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RC-T- 95 T (4) R9.R0 3%.%¢ R%.R0 3%9.%¢| R3%.R0 3%.%¢
0% |3¢-TT- 95% R0.8% 30.83 R0.S% 30.83] Ro.S§ 0.00
30l |R¢-TT- 3o 3%.00 89.lo% 3%.00 8%.0' 3%.00 AN
30C¢ |R¢-T- 263 3R.4% 8.0 3R.49 8C.0R 3R.4% 8C.0R
208 |¢-T- 263 ©'s.5 99%.50 0.5 99%.50| 3%.8 ¥8.10%
330 [R¢-TT- 3068 gL.%0 300.3% gL.S0 200.3% §.8 300.3%
333 |R¢-TT- 20§ “43.%0 19'%.8% “42.%30 ©'%.8% “42.% .93
23R |R¢-T- Yste 2%.80 .83 3%.%80 RC.53 3%.80 R¢C.53
233 |R¢T- Stec 4R.Co olo.8R 4R.¢o .8 1R.C0 g.3R

¢AT- o¢ TA(2ER) 8o.go 8.8 Qo.g0 4Q.83| ®o.go0 0.00
238 [R¢-T- 2068 89.§0 §2.3% ¥%.50 §2.3%| 8380 52.2¢
3" [R¢-TT- 3¢o 38.40 4¢.R8 3%.40 “C¢.R% .3 4C¢.R%

¢-TT- 3¢oTA(350) RC.5C 8.33 RC.§C 8.33| W.5¢ 8.33
93§ |R¢TT- ¢y 8.0 %3.¢% 8%.0 3.¢%8 82.%0 §9.¢%
3% |R¢-TT- ¢y RE.8¢ 3%.0¢ RE.8¢ 3%.0¢| RE.8¢ RQ.4%
R3¢ |R¢-TT- 3¢k R¥.R% 34.¢o R8.]% 3%.¢o 3.4% Ro.00
238 |R¢T- 3¢ 3¢.C8 419,33 3¢.C8 419,33 Y 38.9%
RO [¢-TT- 3¢C R\%.00 3%.%0 R4.00 3%.S0| R4.00 R0.S0
I3 [Re¢T- 9¢s 3R.}8% Ble.1¢ 3R.}% 8lo.5¢| 3IR.}8 Blo.1¢
3R |R¢TT- 3%0 RR.5% 33.89 RR.5% 33.99 3.5 33.8%
2R3 [R¢T- 999 33.68 8%.108 33.68 8%.68|  33.4% 8%.10¢
IR |R¢-T- 38R 3%.00 R¢.08% 3%.00 R¢.08| 13%.00 R¢.0%
3% [Re-T- 903 3R.9% 33.¢§ .89 33.¢§| R.8% 3%.9%
3RG [Re-T- 989 32.3R 8.3 3.3 8%.83 3%.%R 84.83
R [¢-T- 38% 3¢.0¢ R%.5¢ 3¢.0¢ R%.8¢ 3¢.o¢ R8.5¢
3RC |R¢-TT- 985 88.l%g %%.0% 88.% §5.05[ ¥%.0§ §§.0%
28 |¢T- 980 3%.0% Sl.54 3%.0§ 4l.§%| 3%.0% Ylo.§Y
330 [R¢-TT- R03 3R.989 8lo.CC 3R.8%9 8lo.CC R Blo.CC
333 [R¢-TT- R0R 5.3¢ Q.8R 5.3¢ Q.8 §.3¢ Q.8%




¢-T- R0ITA(R0E) 4.0% 19.93 4.0% .83 4.0% v.%2
23R |R¢-T- R03 $.Co .55 $.Co C. 9% $.Co ¢.9%
233 |R¢-TT- R0y 34.30 IR.]¢ 34.30 R 3% JR.]¢
338 [¢-T- 0% ¢.0% 29.¢L ¢.0% 29.¢ ¢.0% 29.¢
3% |R¢TT- R0¢ 5%.9% QC.CR 5%.9% Q¢.CR| §o.L¥ QC.CR
33% |R¢-T- %0 .50 Bo.l93 R.go0 Bo.lw3| Rb.go 80.l93

R¢-T- 30 1 (42) R4.¢o 3¢.o¢ R4.¢o 3¢.o¢| R4.Co RG.LR
3 |R¢-T- % 4%8.¢C ¢0.8% $%8.LC Co.8%[ 4%.C¢ §4.%¢%

¢-TT- 308 1 (3¢) 85.59 §¢.C3 8E.59 §¢.C3| 95.5% 8432
33¢ [R¢-TT- R3R 3.8 ©%.52 43.8% .53 43.8% 8.8
339 [R¢T- %3 JR.]C 3R.¢C RR.]¢ IR RRRC 3R.¢¢
280 |¢-T- 9% 8.9 3%.2% RB.4R 38.3¢% 8.4 3%.3%
38 |R¢-T- 3y 20.3% R4.3R 30.3% 1.3 10.3% ML3R
YR |R¢-T- 3% 3R.8% 8¢.R0 3R.8% 8¢.R0 3%.00 gl.R0
383 |R¢-T- 9 5lo.CR 300.9% Blo.C] 300.34 'y 200.3%
388 |R¢-T- R3¢ 4.3 6.lso 4.3 .90 4.3 v.lgo
38 [R¢-T- R3% Q.CR 28.8% Q.CR 28.8% S.CR 28.8%

¢-T- 39T (5l) R.8R ERAS R.ER 3.C|  R.ER 3.C
288 [¢-T- IR0 38.00 $0.3¢ 3%.00 40.3¢| 38.00 $0.9¢
28l |¢-TT- 39 (8%) 48.3¢ €0.32% 48.]¢ ¢0.33| o.00 0.00

R¢-T- R9TA (3%) Rg.0% 3%.¢¢ Rl.0% 3%.¢¢ 0.00 0.00
38¢ [R¢TT- 333 Q.95 23.9% .85 3.5  €.3¢ 23.9%

R(-T- 33T (33) 4.95 3¢.39 34.95 3¢.32|  R4.8% 3¢.33
388 [R¢-TT- =33 8.3% §.3¢ 8.3R §.3¢ 8.3% §.3¢
940 |3¢-TT- 33Y 3.%¢ 44.0% 30.3¢ 44.0R[  3W.R¢ 44,03
393 |R¢TT- 33Y R8.8%8 3%.¢3 8.9 3%.¢3 R¥.8% 30.¢3
YR |R¢-T- 3% 85.8% 5¢.C3 ¥5.88 5¢.C3| ¥%5.8% §¢.C3

¢-T- R5TA(8%) 32%.bo 85.¢ 32.bo 8&.0¢| 3%.Wo 88R.¢
343 [R¢-T- =30 Rle.C8 8%.08% Re.¢8 82.08| RMWo.C® R4.08

(AT RGTA(R08) 3¢.00 4§.0¢ 3¢.00 $8.0¢|  3C.00 3%
398 [R¢-T- R3¢ 48.4%8 €0.8% 48.4% C0.8% %8.48 84.8%
9% |R¢-T- % R3.8% 3R.8% R3.8% 3R.8% R3.8% 3R.8%
398 |R¢-T- 30 30.0% 38.¢Y% 30.0% 28.¢%| Ro0.0% 98.¢Y%
2l |R¢-TT- 39 4.8% .38 4R.8% Wlo.3% %R.8% .38




24¢ |R¢T- 33 8.0 R2.]% 28.90 2233 98.80 R2.]4
§9¢C.C8| 30338.38|  §RCC.C¥| 2033¥.3¥| §O3Q.RI[ (FuR.o0N
8RR N9.4Y 80.§8% .48 8o.88[ 3%.40 80.§8%
8-TT- R T (5¢) ©.8% 0.8¢ lo.8% 30.8¢| o.00 0.8¢
8R-TT- T (§¢TA-¢2) §.8¢ %0.30 5.8¢ 30.30| o0.00 30.50
8R-T- T (§¢TA-28¢) 8.43 §.50 .43 556 340 §.50
R [8R-T- g 8R.50 §R.¢l ¥R.50 §.Clo|  gR.50 §R.¢l
3 [8R-T- ¢ §.40 28.0% §.40 28.0%| %.%o0 38.0%
8 [8R-T- IR 3¢.9% 4%.3% 3¢.2% 4§.33| 3¢.3% 4%.3%
48R 3% ¥R.3% &R.8% ¥R.3% gR.8%[  ¥R.3% &R.8%
& [83-T- R RB.0§ 34.42 RYB.0§ 34.43 R8.0% 34.3¢
8-TM-TA(33) 2.5% §.¢C 8.5% §.¢¢|  8.8% 0.00
gR-TT-33TA3(233) 9%.Co 8.8 9%.Co R8.08|  9%.Co 0.00
8R-T-TAR(N0¢) 24.3% 3.3 34.3% R3[| 94.3% 0.00
8-TM-TA3(4¢) 92.3¢ 98.40 29.3¢ 38.%0|  32.3¢ 0.00
o |gR-TT- o Rt 33.5R . 33.83|  RR.¢ 33.8%
8R-T- Ao TH 28) 20.3% 24.92 20.3%¢ 94.33| 30.3% 24.92
¢ [83-T- 8R 35.0% 43.9§ 3%.0% 43.95| 3%.0% 43.9%
¢ [83-TT- 8% R8.CK 38.5% RQ.CK 35.58| R8.C§ 3%.5¢
30 |QR-TM- 8¢ 84.8% §lo.0% 84.8% gl.og[ I4.8% §l.0%
28R 8% 3¢.48 4§.¢C 3¢.48 4g.CC|  RC.4Y ¥%.30
R[BR-T- 4 3R.08 8lo.]% 3R.08 Bl.R¢[  RE.SR 3%.103
23 |8R-T-43TA(50) RE.8% 3%.103 5.8 3%.03| Ro.0% 3%.50
8I-IT- 4R Ro.0% RQ.|0 R0.0% RR.80| ¥%.Q0 §S.]%
28 [$R-TT- §% ¥%.50 §Q.3% ¥%.50 §8.33| 8R.0%8 3.3¢
29 |8R-TT- g% 8R.09 §R.08 8R.08 §R.08| o©.00 0.00
3% |8R-TT-Lo 3%.3% 43.83 3%8.3% 43.83| 923.8% 3%.¢3
o |QR-T- R 3%.30 40.§3 3%.30 40.§3| §R.§% 8R.84
3¢ [8R-TT- (63 §R.88% 8R.8% §R.8% QR.84| 30.Lo 84.32




38 [8R-TT- by 30.go 84.32 30.o 84.3%]  34.C§ $R.8%
RO [QR-TT-lo's TH (38%) 34.¢§ 4.8 34.C§ 43.93| o©.00 0.00

8R-T- Ll 0.00 0.00 0.00 0.00| 44.3¢ €3.93
R?|BR-TM- ¢ 44.3¢ €3.193 44.3¢ €3.03] 33.%¢ 3R.0%
RR[8R-TT-to¢ TA (38R) 33.8¢ 40.94 33.8¢ 4o0.9%|  3.¢8 4.5l

8R-T- (68 3.¢8 4.5 3.¢8 4.56] R8.R0 ¥3.Co
R3 |BR-TT- ¢o R%.5¢ 83.co R%.5¢ 83.¢co| 30.%¢ Blo.lgo
8 [8R-T- ¢4 §R.3% 83.¢Y §R.3% ?2.¢%| 8C.o (R.R0
RS |8R-T- (] 4.0 (R.RO 44.90 ¢R.R0|  48.3¢ ¢3.]2
RE |- o 48.3¢ €3.32 4§.3¢ ¢3.% &&.%o 8%.3%
R |-TT- ¢¢ §§.40 QC.3% §§.40 Q¢C.38| 3%.Co “R.¢3
RC|BR-TT- ¢8 34.¢o $.¢3 34.¢o 4R.¢3|  3%.%0 8lo.Q0
RE[8R-TT- <3 3R.9% Bls.80 3.9 8.80| .83 43.90
30 |¥R-T- <3 3%.%0 43.8% 3%.%0 43.83 9%.k0 R%.0%
32 |8R-TT-.3TA(28%) 9%.30 38.0% %%.30 RB.05[  3o.4¢ 44.95

8R-T- §Y 3o.4¢ 44,95 3o.4¢ 44.8%| R3.3% 38.]%
3R |QR-T- ]y RE.§0 38.]% R%.50 3%.28[ 3o 85.40¢
33 |8R-T- S 3%.0 85.\0¢ 3%.6o 85.0¢| 30.]% 4%.8%
38 [8R-T-26TA(SC) 30.38 48.6% 3.3% 48.8§[ Ro.%0 :Q.5%

8-T- <% Ro.30 Q.5 Ro.%30 Q.55 44.8R ¢R.0C
3% |8R-T- %00 44.8% ¢R.0¢ $4.8% ¢R.0C 3.9% $.9%
3% [8R-T-300TF(30R) 3.8% .39 3.9% 4.33]  3.30 g.Clo

¥-T- %03 3.30 8.¢l 3.30 8.¢l 8%.0¢ §¢.0%
3o |8R-T-303TA(Y) 8§.0¢ §¢.0% 8§.0¢ 503 23.3¢ 8.l

8R-T- 0% 23.3¢ 8.0 23.3¢ Q.o 2R.8% 3%.30
3¢ [8R-T-308 T (R9) 22.8% 2%.%0 2.8% 3%.30  2.4R 2.3%

8-T- 04 2.4% 2.3% 2.4% .| 30.8% 84.55
3¢ |8R-T- 0% 30.89 8455 30.8% 84.55| §o.39 ¢¢.8o
80 [8R-T- %ol §0.3% ¢¢.8o 50.3% ¢¢.8o| W3R EERE]
83 |8R-T- 30¢ RC.§0 8R.32 R¢.50 8.3 3%.Lo 43.5%




8 [¥R-T- %08 34.o 4R.5% 34.o $R.EQ| 34.4¢ C0.§%
83 |8-T- 3%0 $8.4¢ Co.%% $8.4¢ co.x%|  3%.ko 8%.l¢
88 |8-T- 992 3o 8g.¢ 32%.o 88.0¢|  3.RR 30¢.0%
84 |- 99R 93.3% 30¢.0% v3.]% 30¢.0§| 3%.0¢ RC.35
8% |8R-T-29R TA (¢E) 3%.0¢ R¢C.9% 3%.0¢ ¢35  o0.00 0.00

8R-T- 233 0.00 0.00 0.00 o.00| 38.4¢ $%.03
Blo [YR-T- 93% 38.4¢ 4%.03 38.4¢ 4%.03| .} 82.5¢
8¢ [83-T- 93¢ RC.R¥ 82.5¢ RC.RY 82.5¢| 32.3% 8%.3%
8% |8R-T-93¢TA(4R) 3L.3R 85.]3 32.3R 88.33|  9.9% 2¢.3%

8R-T- 933 .95 3¢.3% 3R.%% 2¢.3%| 3%.8% 30.3%
40 |8R-T- 3% 38%.8% 49.0l 38.8% 48.0ls| 3%.8% 49.4%
42 [83-7- 338Nsge 38.88 42.4§ 38.8% 492.4§| o.00 40.8%
B8R [8R-T- 934 €0.8¢ 29¢.tol co.8¢| 3.l ¢o.8¢ 29¢.tolo
43 [8R-TT- 933 §.C% Q.G §R.C% QL[ ¥8.4%8 3.4
48 |8-T- 93¢ 3%.90 4¢.2% 38.90 $C.94[ 3340 ¥%.%
4% [8R-TT- 23% 33%.0¢ 84.Cl 3%.0¢ 84.Clo| RY.00 8%.3%
4% |8R-T- 3%o0 9.0 304.0¢ ©3.R0 304.0¢| §%.R0 304.0¢
Slo |8R-TT- 989 8.0 5.5% 8.40 %.88| o.00 0.00

8-TT- 283U(10§) ¥.00 4.%0 2.00 4.o| o©.00 0.00
¢ [8R-TT- 984 43.CR ©%.83 43.¢R ©8.83|  34.¢R §4.8¢
48 [8R-TT- 943 33.8% ¥Q.8R 33.8% ¥%.8%| 33.8% ¥Q.8R
8O |8R-T- 4R 3R.0¢ 86.3% 3R.0¢ 8.38| 3R.0¢ 8l9.3%
82 |8R-TT- 43 RQ.4% ¥3.40 3%.4% 83.40[ 3IC.4R 83.40
SR |8R-TT- 348 3R.6¢ 3¢.CY 3R.40¢ ¢8| R 3¢.C8

8-TT-348TF(30) % 3.3% R.R% 338 % 3.3%

8-T-348TA2(28%) 2.¢8 .6R 2.¢% R[22 .R

8R-TM-248TAR(IS) 3¢.0% R%.8% 3¢.0% R5.84| 2C.0% RG.8%
83 [8R-TT- 3wy Qo.40 4%. Lol Bo.40 48.ls| 4.0 4%.0l
88 |8R-T- 34¢ §.4% 8R.33 §.4% §.33| &R.4% %R.33
8% [8-T- 348 vR.R0 90%.4% WR.R0 308.4%| WR.J0 30%.44




8-TM-248TA(58) 3¢.30 48.4% 3¢.30 4g.43|  3¢.30 4§.4%
8% [83-T- 350 CR.RR 232.3% CR.RR 329.38| %o.00 98.33
Bl |9-T- 384 80.]5 48.9% $0.3% 48.83| Ro.00 48.8%
SC [8R-TT- 35§ 3.5 $4.4% 3.5 $4.493[  3%.40 4.0
58S |8-TT- 3]0 35.9% 43.6¢ 35.98% 43.¢| Ro.00 $3.¢
o [$R-TT- 3o 25.40¢ R8.l0§ 35.40¢ 8.5  28.6¢ Q.05
02 [8R-TT- 92 ©.¢8 2%.40 ©.¢% %406  .¢® 33.40

8-T-263T(38) 28.9% R0.%0 2%.9% Ro0.80| 8.4 R0.%0
W |8R-T- 2y Ce.R¢C 3R¢.C3 Cl9.R¢ IRCLY| o8¢ 3R¢.C3
©3 |8R-T- 2eg 4¢. R ¢%.55 $¢. R C%.58%] “C.LR o.l9§
8 |8-TT- Wl 8¢.Ro ©9.23 8¢.R0 ©2.93| %¢.Ro ©9.23
s |8-TT- ¢ 3R.3% Blo.l90 3R.3% Bl.bo|  3IR.3R Bl.lvo
g |8-T- 268 3%8.08 R0.% 38.0%8 Ro.[ 28.0% 3.3%

8-TT- 2% T (33%) 28.]% 3%.0% 98.38 .03  28.R% 0.00
olo [93-TT- 9¢o ©3.Co 20¢.QR 93.¢o 20¢.8R| 3.Co 20¢.8R
WC |R-T- 2¢3 §8.SR 203.3% §8.8R 203.2%| 30.8% wl.lo's
©S |8R-T- (R R.GR 33.0% R.6R 33.08| 8% 33.0%
o [Q-TT- 9¢3 3R.00 80.33 3R.00 8.R3| 3R.03 8.3

83-TT-3¢3TA(20) ¢.o¢ 29.8% ¢.o¢ 92.83|  ¢.oc¢ 22.9%

8R-TM- 3¢3TA-(33) 3§.00 33.8% 3§.00 3.8 38 Q.83
€ |8R-TM- %8 C.o8 .80 C.98 R.80|  C.le¥ 3.%0
CR[QR-TT- ¢ Q.30 80.3% Q.30 80.R%| .30 80.3%
€3 |8R-TT- 3¢ 43.10§ ©8.3% 43.00% ©8.38| R%.00 30.00
¢8 |8R-T- 3%0 €§.4¢ 3s.40¢ ¢g.49¢|  Woe¢|  ¢R.4C 3s.40¢
% [8R-TT- 999 3R.30 2¢.3% 3R.30 3¢.3%|  %R.30 Q.Y

8R-TT- 989 TH(33%) 8.3 5.33 8.3 5.3  8.3% §.33

8-TT- 983 T (23) .00 4.80 8.00 4.80  g.8o §.S0
% [8R-TT- 28R $¢.0% AR 4¢.0% €%.5%| 4¢.o% €4.5%
Clo [¥R-TT- 983 go.%0 233.4% go.40 233.4§| So.40 233.4%
¢C |8R-TT- 3%% ©3.8% 20%.9% ©3.8% 20%.93| 193.8% l9.33




€S |8R-TT- 3%% 32.8%9 Blo.CC 3R.9% Blo.CC|  3R.8% Blo.CC
So |gR-T- 3%% .68 83.¢8 8.8 83.¢8| R%.068 83.¢8
8% [8R-TT- 3% R5.5% 38.3% 3%.5% 3%.3%| R%.8% 30.3R

¥-T- 3%¢ 23.8R 9%.¢3 93.8R 2%.¢% 30.00 8lg.00
SR |8R-TT- 98¢TA(R¢0) 8%.30 §4.3¢ 88.30 §4.3¢|  32.3% 85.8%

8-T- 988 8%.3% §4.9% 8%8.3% §4.88| 3R.0% RE.Cl
83 |83-T- 338N 4o R0.8% 30.%0 R0.8% 3o.;o[ Ro.9§ 30.%0
€8 |8R-T- R00 44.CR ¢R.3¢ 44.CR €R.3¢C| “4.R ¢R.3¢

8R-T- R00TH( (3) 8.4 §R.00% 8.4% §.0%[  84R §R.0%
€% |83-T- R03 R4.8R 30.4R 4.8 3043 W.8R 30.4R
& [8R-TT- 0% 0.3 ¢R.0% 0.3 ¢8.0oR 0.3 ¢R.0R
Slo |8R-TT- R03 R8.9¢ 35.93 R8.9¢ 3%.93|  28.8¢ 3%.93
SC [8R-TT- 08 $5.%9 ¢3.00 4.9 ¢3.00 4§.3% ¢3.00
€8 [$R-TT- o4 32.9% 8%.30 32.8% ¥5.30| 32.8% 8%.30
300 |Q-T- 0§ 8%8.30 §4.3¢ 8%8.30 §£4.3¢| 30.00 §4.3¢
20% [QR-TT- R0l 38.8¢ 49.8R 38.8¢ 42.83 38.%¢ 49.8R
30 |R-TT- R0¢ 3.5 290.93 ©%8.8R 2%0.33| 8.8 290.93
303 |8R-TT- 0% $%.¢% €R.98% 4.8 CR.8Y w48 €R.98%
308 |43-TT- %0 300.3% 24¢.3¢ 3006.3R 24¢.3¢| 301.3% 34¢.3¢
30 |8R-TT- 99 3R.00 0.3 3R.00 .93 9R.00 3.3
308 |8R-TM- R 3%.8% 88.3% 3%.8% 88.3¢| Ro.oo R0.00
30l [Q-TT- 2933 5%.3¢ HORAN §§.3¢ QL.§l| 30.00 HORAC
30¢ |8R-TT- 339 RE.3R 3¢.¢8 RE.3% 3¢.C8|  RE.3R 3¢.¢8
208 [QR-TT- 3934 R0.9% Q.Y R0.9% Q.| RO.3% Q.Y
330 [QR-TT- 3% R0.9% Q.Y R0.9% Q.|  RO.3% Q.Y
22 |8R-TT- 3 3¢.00 $§.0¢ 3¢.00 4§.0¢| .00 3R.8%
IR BR-T- R3¢ 33.%0 ¥5.9% 3%.%0 ¥%5.8%| 3340 ¥5.9%
233 |8R-T- R3¢ 4§.4R €3.93 4g.4% €3.83 IMWR ¢€3.93
338 |8R-T- R0 30.5% B4.R% 30.5% 4.4 30.5% 84.38
M [8R-TT- 33 3%.48 85.4% 33.48% 88.49%  33.4% RC.5%




338 [8R-TT- I3 ¢.o¢ 22.8% ¢.o¢ 22.8R ¢.o¢ 22.8%
3o |9R-TT- I3 3%.9¢ R4.0§ 25.8¢ 34.08| 98.%¢ R4.0%§
33¢ [8R-TT- Y 4%.%0 Cl9.]R 4%8.%0 C.R3[  48.%30 ¢R.83
23 |8R-TT- Y 34.¢R $R.CE 34.CR $RCE| 34.CR $R.CE
3RO |QR-T- N R%.%0 8.9 3%.%0 ¥R.94%| R%.%20 R0.33
3R [BR-TT- (¢ 8%.9% ©R.8% ¥%.8% ©R.8¢[ IM.8% 8%.3%
R [BR-TT- 3R 30.3% 28.8% 30.9% 28.98[ 20.3R 8.]%
8R-T-3TA(2R3) 4.8 C.\o% 4.8 ¢8| 48R C.\o8
8R-T-3TA(4%) §.0% .83 §.0% ¢.82 %.0% 4.00
8R-T-33TA 2(2¢%) 3%.9R $lo.03 3%.9% 4lo.03|  3%.9% $lo.03
33 [8R-TT- 33 .oR 29.3% .3 22.3%|  .LR 22.3%
8R-T-333TA(R¢?) 22.3% 25.45 29.3% 28.49%]  23.3% 25.45
I8 [9R-TT- 3% EENA 33.L% R.CE 33.68| RR.¢E 33.L%
XM [QR-TT- 3% 3R.%0 Blo.3l 3R.%0 8.3 3R.%30 Blo.3l
3G [R-TT- 3L .80 23.¢lL g.80 23.¢|  %.go 23.¢l
8-TM-I3TA(I(R) 8.0 4.3 8.0 4.83|  Q.0% 4.3
RN |8-T- 3% 4.0 33.30 4.0 3.3 23¢.Bo R08.3%
8-TM-39TA(RE) 30.8% 88.8% 30.8% 88.84| o.00 0.00
8-TM-3CTA(348) 34.8¢ 3¢.3% 34.8¢ 3¢.38| o.00 0.00
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33 |¥3-TT-%03 R¢.g0 ¥R.3% .50 82.35| .o 8R.35
38 |83-TT-%0% 8.4% §.0 8.9% g.o| 9.8 §.l0
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83 |83-TM-98Y 89.89 52.S0 $2.8 52.S0| ¥3.8% 43.3%
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¥3-T-334N(3) ¢.8¢ 33.]% ¢.8¢ 23.]%| €8¢ 23.]%
QR 31626.8 R3] 362.QY[  3WEL.ES|  345L.ER
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8 |QL-TT- G go.30 ¢¢.\s0 go.30 ¢C.\g0 go.30 ¢¢.\s0
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